



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 4th Semester, Section C, Morning, Session Autumn 2025

Registration #	Name	CSC 210-7					CSC204					CSC206					CSC-303					CSC-305					CSC404				
		Linear Algebra					Theory of Automata & Formal Languages					Database Systems					Object Oriented Programming					Discrete Structures					Visual Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-A-0051	Shahzad	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-C-0191	Tahir Nawaz	50	D	1.5	3	4.5	32	F	-	3	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2022-M-A-0052	Toheed Khan	60	C	2.0	3	6.0	40	F	-	3	-	-	-	-	-	66	C+	2.5	4	10.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-C-0139	Maimoona Sikandar	-	-	-	-	-	-	-	-	-	-	50	D	1.5	4	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0163	Sayam Zafran Abbasi	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2023-M-C-0173	Syed Qaim Haider Shah	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0024	Muhammad Khizer Qureshi	55	C	2.0	3	6.0	36	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	
B.S CS SP-2024-M-C-0131	Abdul Moez	77	B+	3.5	3	10.5	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0135	Abrar Hassan	66	C+	2.5	3	7.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0136	Afshan Eman	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0137	Ahmed Hammad Bin Masood	70	B	3.0	3	9.0	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0138	Ahsan Sajid	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0139	Alisha Sajjad	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0141	Awais Abid Abbasi	60	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0142	Ayesha Khan	66	C+	2.5	3	7.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0143	Bilal Munir	55	C	2.0	3	6.0	23	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0144	Emaan Iftikhar	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0145	Faizan Khan	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0146	Fatima Younas	70	B	3.0	3	9.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0149	Hooria Munir	55	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0151	Javeria Sajjad	66	C+	2.5	3	7.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0153	Minahil Umer	55	C	2.0	3	6.0	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0156	Muhammad Abubakar	55	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0158	Muhammad Asim	60	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0159	Muhammad Hammas Saghir	50	D	1.5	3	4.5	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0160	Muhammad Moaz Naeem	55	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0161	Muhammad Saad Ullah	55	C	2.0	3	6.0	41	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0166	Sarosh Ibrar	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0172	Tahir Hussain	50	D	1.5	3	4.5	32	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 4th Semester, Section C, Morning, Session Autumn 2025

		CSC-405					CSC-502					CSC-503					CSC-504					GE269					SSC 303				
		Advanced Database Systems					Design & Analysis of Algorithms					Artificial Intelligence					Web Technologies					Applied Physics					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-A-0051	Shahzad	52	D	1.5	3	4.5	-	-	-	-	55	C	2.0	3	6.0	67	C+	2.5	3	7.5	-	-	-	-	81	A	4.0	3	12.0		
B.S CS Aut-2023-M-C-0191	Tahir Nawaz	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0052	Toheed Khan	59	C	2.0	3	6.0	-	-	-	-	50	D	1.5	3	4.5	59	C	2.0	3	6.0	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2022-M-C-0139	Maimoona Sikandar	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2023-M-C-0163	Sayam Zafran Abbasi	-	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-C-0173	Syed Qaim Haider Shah	-	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0024	Muhammad Khizer Qureshi	34	F	-	3	-	-	-	-	-	50	D	1.5	3	4.5	71	B	3.0	3	9.0	-	-	-	-	66	C+	2.5	3	7.5		
B.S CS SP-2024-M-C-0131	Abdul Moez	55	C	2.0	3	6.0	-	-	-	-	65	C+	2.5	3	7.5	56	C	2.0	3	6.0	-	-	-	-	51	D	1.5	3	4.5		
B.S CS SP-2024-M-C-0135	Abrar Hassan	76	B+	3.5	3	10.5	-	-	-	-	71	B	3.0	3	9.0	61	C	2.0	3	6.0	-	-	-	-	50	D	1.5	3	4.5		
B.S CS SP-2024-M-C-0136	Afshan Eman	82	A	4.0	3	12.0	-	-	-	-	81	A	4.0	3	12.0	70	B	3.0	3	9.0	-	-	-	-	65	C+	2.5	3	7.5		
B.S CS SP-2024-M-C-0137	Ahmed Hammad Bin Masood	80	A	4.0	3	12.0	-	-	-	-	66	C+	2.5	3	7.5	59	C	2.0	3	6.0	-	-	-	-	55	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0138	Ahsan Sajid	25	F	-	3	-	-	-	-	-	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	-	-	-	-	55	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0139	Alisha Sajjad	71	B	3.0	3	9.0	-	-	-	-	61	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	50	D	1.5	3	4.5		
B.S CS SP-2024-M-C-0141	Awais Abid Abbasi	27	F	-	3	-	-	-	-	-	54	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	50	D	1.5	3	4.5		
B.S CS SP-2024-M-C-0142	Ayesha Khan	76	B+	3.5	3	10.5	-	-	-	-	72	B	3.0	3	9.0	65	C+	2.5	3	7.5	-	-	-	-	57	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0143	Bilal Munir	42	F	-	3	-	-	-	-	-	50	D	1.5	3	4.5	56	C	2.0	3	6.0	-	-	-	-	37	F	-	3	-		
B.S CS SP-2024-M-C-0144	Emaan Iftikhar	55	C	2.0	3	6.0	-	-	-	-	50	D	1.5	3	4.5	57	C	2.0	3	6.0	-	-	-	-	37	F	-	3	-		
B.S CS SP-2024-M-C-0145	Faizan Khan	47	F	-	3	-	-	-	-	-	34	F	-	3	-	39	F	-	3	-	-	-	-	-	57	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0146	Fatima Younas	61	C	2.0	3	6.0	-	-	-	-	62	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	50	D	1.5	3	4.5		
B.S CS SP-2024-M-C-0149	Hooria Munir	70	B	3.0	3	9.0	-	-	-	-	63	C	2.0	3	6.0	57	C	2.0	3	6.0	-	-	-	-	55	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0151	Javeria Sajjad	67	C+	2.5	3	7.5	-	-	-	-	56	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	39	F	-	3	-		
B.S CS SP-2024-M-C-0153	Minahil Umer	54	D	1.5	3	4.5	-	-	-	-	82	A	4.0	3	12.0	66	C+	2.5	3	7.5	-	-	-	-	59	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0156	Muhammad Abubakar	61	C	2.0	3	6.0	-	-	-	-	70	B	3.0	3	9.0	59	C	2.0	3	6.0	-	-	-	-	50	D	1.5	3	4.5		
B.S CS SP-2024-M-C-0158	Muhammad Asim	55	C	2.0	3	6.0	-	-	-	-	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	-	-	-	-	55	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0159	Muhammad Hammas Saghir	27	F	-	3	-	-	-	-	-	50	D	1.5	3	4.5	66	C+	2.5	3	7.5	-	-	-	-	31	F	-	3	-		
B.S CS SP-2024-M-C-0160	Muhammad Moaz Naeem	56	C	2.0	3	6.0	-	-	-	-	57	C	2.0	3	6.0	61	C	2.0	3	6.0	-	-	-	-	57	C	2.0	3	6.0		
B.S CS SP-2024-M-C-0161	Muhammad Saad Ullah	34	F	-	3	-	-	-	-	-	50	D	1.5	3	4.5	61	C	2.0	3	6.0	70	B	3.0	3	9.0	37	F	-	3	-	
B.S CS SP-2024-M-C-0166	Sarosh Ibrar	75	B+	3.5	3	10.5	-	-	-	-	84	A	4.0	3	12.0	81	A	4.0	3	12.0	-	-	-	-	70	B	3.0	3	9.0		
B.S CS SP-2024-M-C-0172	Tahir Hussain	65	C+	2.5	3	7.5	-	-	-	-	64	C	2.0	3	6.0	61	C	2.0	3	6.0	-	-	-	-	55	C	2.0	3	6.0		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**B.S (Computer Science) 4th Semester, Section C, Morning, Session Autumn 2025**

Registration #	Name	CSC 210-7					CSC204					CSC206					CSC-303					CSC-305					CSC404				
		Linear Algebra					Theory of Automata & Formal Languages					Database Systems					Object Oriented Programming					Discrete Structures					Visual Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2024-M-C-0173	Talha Tahir	50	D	1.5	3	4.5	40	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-C-0175	Wajiha Bibi	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2024-M-C-0176	Zeeshan Murad	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2024-M-C-0178	Zoya Imtiaz	60	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

\_\_\_\_\_  
**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**B.S (Computer Science) 4th Semester, Section C, Morning, Session Autumn 2025**

		CSC-405					CSC-502					CSC-503					CSC-504					GE269					SSC 303				
		Advanced Database Systems					Design & Analysis of Algorithms					Artificial Intelligence					Web Technologies					Applied Physics					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2024-M-C-0173	Talha Tahir	66	C+	2.5	3	7.5	-	-	-	-	-	56	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	37	F	-	3	-
B.S CS SP-2024-M-C-0175	Wajiha Bibi	55	C	2.0	3	6.0	-	-	-	-	-	36	F	-	3	-	57	C	2.0	3	6.0	-	-	-	-	-	51	D	1.5	3	4.5
B.S CS SP-2024-M-C-0176	Zeeshan Murad	76	B+	3.5	3	10.5	-	-	-	-	-	80	A	4.0	3	12.0	81	A	4.0	3	12.0	-	-	-	-	-	70	B	3.0	3	9.0
B.S CS SP-2024-M-C-0178	Zoya Imtiaz	77	B+	3.5	3	10.5	-	-	-	-	-	58	C	2.0	3	6.0	57	C	2.0	3	6.0	-	-	-	-	-	55	C	2.0	3	6.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

\_\_\_\_\_  
**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026